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15,00,000, Fixed cost Rs.

Calculate —

1. Contribution

2. P/V Ratio

3. BEP

4. Sales required to earn profit Rs. 5,00,000
5. Profit when sales Rs. 25,00,000

6. Margin of safety




Contribution = Sales — Variable Cost
= 20,00,000 - 15,00,000

= 5,00,000



Profit Volume Ratio = Y 100

_ 500000
= 20,00,000

= 2504



Total Fixed Cost

Break Even Point (in Rs.) =

Profit Volume Ratio

2,000,000
£ 5%

= g,00,000




Desired Profit + Fixed Cost

Desired Sales =
RS Profit Volume Ratio

5,00,000 + 2,00,000
B 25%,

= 28,00,000



.........................
TEn el L ey

Profit Volume Ratio
Desireq Profit + Z,00000
25%
= 25,00,000 x 25% = Desired Profit + 2,00,000
Desired Profit = &,25,000 — 2,000,000
= 4,25,0000
Desired Profit = (Desiredéﬁ!es x PV Ratio) — Fixed Cost

25,00,000 =

Desired Profit = {25,00,000 x 25%) — 2,00,000
= 6,25,000 — 2,00,000
= 4,25,0000



‘\

Margin of Safety = Actual Sales — BEP Sales
= 20,00,000 — 8,00,000

= 12,00,000



